Graphing Polynomials Practice
Example: P(x) =x> - x_2 —4x+4

a) Find the zeros by factoring.
CP(x)=(x° —x?) +(~4x+4)
| P(x)i xz(x —1)—4(x —1)
P(x)=(x* - 4fx-1)
Plx)=(x+2)x-2)x-1)

b) Determine end behavior.

As x =+, P(x) = +o.
- = g X = =00, P(X) = =0
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Factor by grouplng because the
polynomial has 4 terms.

SetP(x) = 0 and solve.

The zeros of P(x) are -2, 2, and L.

Beoause the leading coefficient (s
positive and the degree Ls odd, the
graph should go up on the right
and down on the left. '

c) Find the y intercept by piugging in zero for x.

(0,4)

d) | Plug in x values between the zeros to find

local maxima.
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Plug in -1 and 1.5 for x.
Plot the resulting ordered
patrs. (-1, &) and (1.5,
0.875).

e) Connect all the points in a smooth curve and you are done!

Graph each of the following below by following the steps above.
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4. P(x) :éc3 —~ ZxE)(—flx + 8)
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